(6% | E G [ vics B A )
YpngE | © Ummst]

- O 325
D VS = s

B OZROBBEE &, mEFET. mIEEE. m*I3EARE.
LI, g FET S, 1XFCRITOH. BERONRY. AERKLTOZAD
BER T ENTE K,

Fz. km (FOX—=KJL) &Y. mOFNTKk DPMTOTOB & B,
ZRIE k (£0) X 1000 fBEEKRLTOT,

FOX—FIL X—=kIL
Tk m = 100 m o&>IT 000 =
SUX—kIL

\/Imm = 0001Tm a&3iT 000 = CEZTZTBHY BT Ok,

y
a

1
- N

=

(1] BEcRT3RETT. RO Kb TRIZRFEEILL.

® 30mm =cm @ 1200mm = 120 cm
® 6300mm = 6.3 m @ 55000m = 55 km
® 750cm = 7.5 m ® 10cm = 0.1 m
@ 75mm = 0.075 | m 10cm = 100 mm
@ 2lkm = 21000 | m @ 8.8m = 880 cm
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® 90000cm? = @ m? @ lcm? = mm?
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